JL_

Sottrazione (orizzontale)

Nome:

Risolvi ogni problema.

1) 165 - 1 =

2) 7.598 - 487 =

3 4.482 - 1

4 671 - 36

5 1.398 - 31 =

6) 6.801 - 577 =

) 69 - 6 =

8) 4.871 - 2.445 =

9 694 - 598

10) 55 - 2 =

11) 870 - 331 =

12) 539 - 8 =

Risposte

10.

11

12.

1-10
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Sottrazione (orizzontale) Nome: Soluzioni
Risolvi ogni problema. Risposte
1 164
1) 165 - 1 = 164
2 7.111
2) 7.598 - 487 7.111 3 4.481
4 635
3 4.482 - 1 = 4.481
5 1.367
4 671 - 36 = 635 o. 6224
7. 63
5 1.398 - 31 1.367 . 2426
9 96
6) 6.801 - 577 6.224
10. 53
) 69 - 6 = 11, 539
12. 531
8) 4.871 - 2.445 = 2.426
9 694 - 598 96
10) 55 - 2 =
11) 870 - 331 539
12) 539 - 8 = 531
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Sottrazione (orizzontale)

Nome:

Risolvi ogni problema.

Risposte

53 164 96
4.481 6.224 7.111

2.426
635

63
1.367 1

1) 165 - 1 =

2) 7.598 - 487 =

3 4.482 - 1

4 671 - 36 =

5 1.398 - 31 =

6) 6.801 - 577 =

) 69 - 6 =

8) 4.871 - 2.445

9 694 - 598 =

10) 55 - 2 =

10.
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